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Regular Operations

* The union of two languages A and Bis definedas AU B = {w: w € Aorw € B}.

e The concatenation or product of two languages A and B is defined as
AB ={ww':w e Aand v’ € B}.

e The closure or star (or Kleene closure) of a language A is defined as:
A* ={ujuy... up: k> 0andu; € Aforalli =1,2,...,k}
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The general procedure is this:
e The set of statesis Q4 x Q, QA X &3
e The start state is the state (g4, qp) (ﬁ,a > %g)
e The accept states are {(s4,sp) : s4 € Fqorsg € Fg}
e The transition function is defined by:
°© d4uB((s4,88),z) = (04(s4,2),08(sp,x))

In other words, the transition function takes you from the pair of states you're at to the pair of
states the two individual machines would be in after they each saw the next symbol.
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